
DESCRIPTIONQ'TY SHIMANO
CODE NO.

ITEM
NO.

Complete Quick Release 133 mm (5-1/4")
Connector Cap & Cover
Connector Cap
Connector Cover
Internal Assembly (Axle Length 108 mm) for Quick Release Type
Internal Assembly (Axle Length 140 mm) for Nut Type
Steel Ball (3/16") 20 pcs.
Left Hand Dust Cap
Left Hand Cone (M10 x 11.94 mm)
Lock Nut (M10 x 7.1 mm) for Left Hand Cone
Cap Nut (M9)
Washer (2 mm)
Toothed Axle Washer
Cable Fixing Screw Unit (M3 x 16)
Bracket & Fixing Screw (M3 x 7)

1
2
3
4

5

6
7
8
9

10
11
12
13
14

Y-2ST
Y-2SS
Y-2SS
Y-2SS
Y-20U
Y-20V
Y-000
Y-22V
Y-22V
Y-31Z
Y-314
Y-2SS
Y-20Z
Y-76X
Y-76X

98030
98030
20000
19000
98010
98010
91210
06000
03100
06010
14210
28000
15000
98010
98020

 IL/HB Printed in Japan 0009-2025

52
3

4

6
7

8
9

For Nut Type

10

10

11

11

12

SW-NX30

2
3

4 5

1

For Quick Release Type

6
7

8
9

13

14

HB-NX50
SW-NX30

SHIMANO NEXUS Inter-L Hub Dynamo

Hub Dynamo

Hub Dynamo Switch


